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Week commencing 6.4.20
Hey Everybody,

Happy Monday! Welcome back to your remote learning. Hopefully you found last week’s work enjoyable and managed to complete it all – please let us know if you’re struggling with technology, or the work itself. 

Each day you will have tasks to complete. These will be: spellings, reading, writing and maths. Most of what is featured will be topics that we have already covered. If anything is new, or you have forgotten how to do it, just a have a go and see what happens. Failing that, you can call upon your families for help, or contact your class teacher. Your parents have been given an email address to do this. 

Do each day’s work on the day it is intended. It is important that you maintain normal routines, as much as possible – this will make your transition back to school much easier!

Don’t forget – if you need anything, we are still here for you!

Take care of yourselves.

Miss Coates and Mr Fletcher
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Spellings

Can you think of a definition for these words? Copy each word three times, in your best handwriting!
Category
Cemetery
Committee
Communicate
Community
Competition
Conscience
Conscious
Controversy
Convenience






































Reading
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Check your answers on Page 49-50
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Check your answers on Page 49-50
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Art - Gratitude Journal


You are going to complete a gratitude journal. If you show gratitude it means you are thankful for what you have, and show appreciation for it.

Every day you will think about something in your life that you are thankful for, and complete an art task based on it. 

Today you need to think about being grateful for the ‘happiest day of your life’.

You can present this in a number of ways:

· Draw a picture to represent that day

· Design a comic book strip to show what happened on that day

· Design a post card showing what happened on that day. Write on the post card to a friend, family member or teacher describing the day. 

There are lots of occasions you could base your task on.
 Look at the list below for inspiration.

1) Meeting and making friends,
2)  Getting a new brother, sister, or pet,
3) A special holiday or trip,
4) A celebration, like Christmas, birthdays or a wedding,
5) Completing a difficult task or challenge.



Maths 
[image: ]Today you will practice ratio.
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Spellings



Correct the spelling of these words

Catagory
Cemetary
Comitee
Comunnicate
Comunity
Commpetition
Connsience
Conscius
Controvarsy
Conveniance
































Reading
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Check your answers on Page 51
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Art - Gratitude Journal




You are going to continue your gratitude journal. If you show gratitude it means you are thankful for what you have, and show appreciation for it.


Today you need to think about being grateful for family and/or friends. Think about the people that are special to you in your life.

You can present this in a number of ways:

· Draw a picture of your family and friends

· Draw a family tree


· Ask your family/friends questions and draw their responses. For example, you could ask about their favourite animal or food. 



















Maths
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Spellings

Use the words on the list in sentences. 

Can you challenge yourself and use them all in only one sentence?


Category
Cemetery
Committee
Communicate
Community





























Reading
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Check your answers on Page 52
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Art

You are going to continue your gratitude journal. If you show gratitude it means you are thankful for what you have, and show appreciation for it.


Today you need to think about being grateful for a special place.

You can present this in a number of ways:

· Draw your special place

· Draw a map showing the area your special place is in, and what other things you might find there


· Design a postcard from your special place. The front of the postcard should have a picture of your special place. On the back, you can write on the postcard explaining why it is special


Examples of special places:
· An area you visited on holiday
· A place where you have family 
· A room in your house, for example your bedroom
· A place you have read about, or watched a movie about. For example, Hogwarts in Harry Potter.




Maths
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Spellings


Use the five words on the list in sentences.

Can you challenge yourself and use them all in only one sentence?


Competition
Conscience
Conscious
Controversy
Convenience
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Check your answers on Page 53
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Check your answers on Page 53
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Art

You are going to continue your gratitude journal. If you show gratitude it means you are thankful for what you have, and show appreciation for it.


Today you need to think about being grateful for food. Some people find it difficult to get enough food. Most people in the UK are lucky enough to have foods they can eat as special treats.

Think about your favourite food. This could be a snack, treat, or a full meal. You could set out your journal entry for today in any way you wish, but there are some ideas below:

· Draw a picture of a plate of your favourite food

· Design a restaurant menu that serves your favourite food

· Design a magazine or newspaper advert that advertises your favourite food 












Maths
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Spellings

Get someone in your house to read out the words from the list below. Spell them without looking at the list!
Category
Cemetery
Committee
Communicate
Community
Competition
Conscience
Conscious
Controversy
Convenience
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Check your answers on Page 54-55
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Check your answers on Page 54-55
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 Art

You are going to continue your gratitude journal. If you show gratitude it means you are thankful for what you have, and show appreciation for it.


Today you need to think about what you are the most grateful for in your life. Take some time to think about what makes you happy and why you are grateful for it. 

There are many different ways you could present this:

· Design and write a thank you card for someone you are grateful for

· Draw a picture to show what you are most grateful for

· Draw a picture that shows how this makes you feel


Here are some ideas about what could make you feel gratitude:

· A special friend or family member

· A hobby

· A special talent you have

· A possession




Maths
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A Hung Parliament

za A Hung Parliament

When there is a general election, everyone over the age of 18 can vote for which
political party they want to run the country. Voting is anonymous, so your vote
cannot be traced back to you. This ensures freedom of choice.

Explain what the danger is of @ prime minister choosing to govern with just their party?
Answers may vary. Children need to explain that it would be easier for opposition
(those that disagree) to vote against the government's deas and plans,

If they do not choose to govern on their own with just their party, what is their
other option? The number of votes are counted throughout the night, but by 3 a.m. it is
generally known what the outcome is and which party has the most votes

x| Get support from another party who did not win enough seats

Get support from their families.

How to Win

There are 650 seats available in the House of
Commons. That means that a maximum of
would o prime ministes resign? 650 people can be in Parliament and represent
their local constituency, or local council area.
Whichever party wins the majority of the
seats will win the election overall, and their

Make all the decisions without their own party

Demand another election.

They are fed up.

They no longer want to be the prime minister.

The prime minister has lost confidence in their own ability to lead. leader will be the prime minister.

%] The Members of Parliament have lost confidence in their ability to lead.

Explain the role of the Cabinet
Answers may vary. Children should explain that the Cabinet advises the
prime minister, gives opinions about decisions and members of the Cabinet
carry out specific roles that the prime minister trusts them to do.

A Hung Parliament Result
However, to win the majority of seats, that party must have at least 326, When
n0 party wins this number, it is called a hung parliament

Winning the mojorty number of seats maans euaring you have more people
on your side. A prima inistar, I you ware: to change the aws or make big
They cannot st as prime minltar. dacisizns, you naed to have the suppert of s many HPs
They cannat do llthe things they had planned o do @ as posibl,

They want a holiday

Why would a prime minister not want a hung parliament?

With a hung parliament and no majority, the prime minister

They want to work alongside another party | can either.
+ govern with their party alone, but risk not having

e eeic o et s when el matrs,
“ N

+ form an alliance with another party who
\ did not have enough seats, and rely on
their support (see the table below).

Jr— @r/
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P A Hung Parliament

Scottish National Party 35

Liberal Democrats 12

Democratic Unionist Party 10

T R

Other 1

This sounds good but it can be very difficult for MPs of one party to find MPs
from another party who agree with them and their ideas.

Decisions, Decisions

The prime minister can now form a
minority government with another party
This means she would rely on the other
party's support to push through plans on
their manifesto.

cabinet:

A group of advisers chosen
by the prime minister, to give
their opinions and carry out

specific roles.
However, theparty with the seconlargest | “°"

number of seats can also try to get support
from another party, in the hope of choosing a different prime minister, so things
need to happen quickly

If @ prime minister cannot find another party to work with, they resign, as it
shows there is a loss of confidence in their ability to lead.

Decisions and allegiances need to happen quickly, The prime minister must begin
putting together their new cabinet, competently get back to leading the country
as soon as possible, regain the trust of parliament and make the necessary
changes in government for the good of the nation.

e A Hung Parliament

A hung parliament is not an ideal situation for anybody in the House of
Commons, or for the person who is trying to run the country for the good of the
people.

However, it could work in the favour of the nation. If some controversial decisions
are not pushed through too quickly, or at all, this could benefit the general
public in the UK.
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A Hung Parliament

Questions

Imagine you want to vote in the general election. What must happen for you to be

able to vote?

Find and copy one word which means people do not know what party you have voted for.

Do you think it is important that people have freedom of choice when they vote? Explain

your thoughts

Think of a more suitable subheading than ‘A Hung Parliament Result’

Explain why a prime minister would not want a hung parliament.

1f you were the prime minister in a hung parliament situation, which option would you
choose, and why? Explain what the danger is of a prime minister choosing to govern with
just their party

A Hung Partiament

Tick the correct answer to complate this sentence
A prir minisar may have o resign because
[] the have become disitlusioned and want toteave
[ the MPs o longer trust that they can lead the country properly
] they have lost confidence i themselves

L] they want another eection.

Look at the paragraph beginning ‘Decisions and allegiances.... What impressions do you
get about the need for urgency at the time of a hung parliament? Why do you think

that is?

Explain why a hung parliament might work for the people in the UK.

Would you want to be the prime minister? Explain your thoughts.

@ *hH
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B Introducing Ratio B Introducing Ratio

a

4. Continue the sequences, counting on in multiples of the first numbers to find equivalent

calculate alternative statements.

24

What is the ratio of What is the ratio of
grey to white? triangles to circles?

@ O0|0AO
AN\ OO

ratios. The first one is done for you. I can write ratio statements and use multiplication and division facts to

1. For each group, write the ratio of one group compared to the other.

What is the ratio of
snakes to birds?

2. Complete each drawing so that it makes the ratio correct

Complete the drawing Draw 40 letters (A and B)
to show the ratio of in total to the ratio of

Oranges: Apples AB
42 23

There are 21 pieces of fruit
in total - bananas and
strawberries. Draw the
pieces of fruit to make

this ratio correct.
bananas:strawberries
21
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Introducing Ratio Introducing Ratio

3. For each grid write the ratio as you see it, then write the ratio in its simplest form. Show 4. Continue the sequences, counting on in multiples of the first numbers to find equivalent
your working out. The first one is done for you. ratios. The first one is done for you.

b

24

shaded to blank

shaded to blank

412

VRN

L]

shaded to blank

a.23 12 46 812 38 1015

5. In each row, draw a circle around the ratios which are equivalent to the first ratio,

shaded to blank
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Armed Forces Day

This year, Armed Forces Day in the UK is on Saturday 24th June. People celebrate
the men and women whao serve and have served in the armed forces.

What Is Armed Forces Day?
Armed Forces Day (formerly Veterans Day) in the United Kingdom is a chance to
show support for the men and women who make up the armed forces community,
from currently serving troops to reserves and veterans. It is important to
remember the difference between Armed Forces Day and Remembrance Day,
Armed Forces Day generally focuses on celebrating living current and ex-
servicemen and women, whereas Remembrance Day focuses on honouring the
dead service men and women.

The Origins of Armed Forces Day
Veterans Day was first observed in 2006 and the name was officially changed
to Armed Forces Day in 2009. Following the first celebrations in 2007, Jim
Devine, the Member of Parliament for Livingston, called for Armed Forces Day
tobe a public holiday because he thought we should recognise the outstanding
contributions which veterans have made to the country. Although an official
event, it is not et a public holiday in the UK

When Does Armed Forces Day Take Place?
Each year, Armed Forces Day takes place on the last Saturday of June. The
celebrations for Armed Forces Day begin on the Monday prior to this, when the
Armed Forces Day flag is raised on buildings and famous landmarks around
the country, The date of the last Saturday in June was chosen as it coincides
with the date when the first ictoria Cross was awarded in London in 1857.
The Victoria Cross is a special medal presented to armed forces personnel for
outstanding bravery

Where Does Armed Forces Day Take Place?
Each year, the Armed Forces Day celebrations take place in a host town in the
UK. It is called the National Event. In addition to this, hundreds of smalle;
celebratory events also take place in other locations across the country

How Is Armed Forces Day Celebrated?
There are many ways for people, communities and organisations across the
country to show their support and get involved, from attending an event or
throwing a party, o arranging a local event, An estimated 50,000 people attend
the celebrations in the host location each year.

The day-long celebrations, at the National Event and other locations, include
events such as:

- The presentation of medals toliving ex-servicemen and women
- Military parades
Activities and artistic performances staged on land, sea and air
Drumhead services

Fly-overs by the Battle of Britain Memorial Flight, the Red Arrows and
Helicopter Formation

Arena displays including the Royal Marine Commando Display Team
and the Royal Marine Band

+ Military displays representing all of the armed forces

+ Firework displays

Why Do We Celebrate Armed Forces Day?
Showing support for the armed forces provides a much valued morale boost
for the troops and their families. Plans for a Veterans Day were announced in
February 2006 by the then-Chancellor of the Exchequer, Gordon Brown, who
said the aim was to ensure the contribution of veterans was never forgotten. You
can find out more about what they are doing at home and around the world by
visiting the official sites of the Royal Navy, British Army and Royal Air Force.

w *hw inbcouk w *hw conk
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Who Are the Armed Forces?

The UK Armed Forces defend the UK and its interests. They are busy working
around the world, promoting peace, delivering aid, tackling drug smugglers,
providing security and fighting terrorism,

The Armed Forces consists of the following departments;

Royal Army
The British Army is the main land warfare force of the
United Kingdom. Throughout ts history, the British Army
has seen action in a number of major wars involving the
world's great powers, including the Seven Years' War, the
Napoleonic Wars, the Crimean War, the First World War and
Second World War.

Royal Navy

The Royal Navy is the United Kingdom's principal naval
warfare force. The modern Royal Navy traces its origins
to the early 16th century, making it the oldest of the UK's
armed services,

Royal Marines
The Royal Marines are highly specialised and adaptable. The
Royal Marines are trained for rapid deployment worldwide
and capable of dealing with a wide range of threats

Royal Air Force
The Royal Air Force is the United Kingdom's air-based
warfare force. Formed towards the end of the First World
War, it i the oldest air force in the world. Since its
formation, the RAF has taken a significant role in British
military history, in particular, playing a large part in
the Second World War, where it fought its most famous
campaign, the Battle of Britain

Reservists

Reservists give up their spare time to serve in the reserve
forces, balancing their civilian life with a military career to
ensure that should their country require them, they would
be ready to serve.

The reserve forces make up approximately one sixth of
our armed forces personnel and as such, are integral to
protecting the nation’s security at home and overseas.

Veterans
Aveteran is anyone who has served in the HM Armed Forces
at any time (including National Service and reserve forces).
Armed Forces Day celebrates their continued role within the
military community

Cadets

The Cadet Forces (Sea Cadets, Army Cadets, Air Cadets and
the Combined Cadet Force) currently support over 130,000
young people in more than 3,000 locations across the

UK. Cadets learn life and career building skills, as well as
gaining vocational qualifications.





image11.tiff
Armed Forces Day Questions

What was the original name of Armed Forces Day?

What s the purpose of Armed Forces Day?

How do we know that MPs believe Armed Forces Day is so important?

How is Armed Forces Day different to Remembrance Day?

Whyis the date of Armed Forces Day significant?

What is the main difference between each of the Armed Forces?

Why are the reservists so important?

What evidence tells us that becoming a cadet would be very fulfilling?

Armed Forces Day Answers

hat was the original name of Armed Forces Day?
Veterans Day.

What i the purpose of Armed Forces Day?
To show support for the men and women who make up the armed forces community, from
currently serving troops to reserves and veterans

How do we know that MPs belleve Ammed Forces Day i so important?
Due to the fact that on 24th June 2007, Jim Devine, the Member of Parliament for Livingston.
called for Armed Forces Day to be a public holiday. because he believed that we should recognise
the outstanding contribution that veterans have made to the country.

How is Armed Forces Day diferent to Remembrance Day?

Armed Forces Day generally focuses on celebrating living current and ex-servicemen and women.
whereas Remembrance Day focuses on honouring the dead service men and women.

Wy is the date of Armed Forces Day significant?
Due to the fact that it coincides with the date when the first Victoria Cross was awarded in London
in 1857,

What i the main dfference between each of the Armed Forces?
Where they are based - land, sea or air.

Why are the reservists so important?

The Reserve Forces make up approximately one sixth of our armed forces personnel and as such,
are integral to protecting the nation's security at home and overseas.

nat evidence tells us that becoming a cadet would be very fulfling?
Cadets learn life and career building skills as well as gaining vocational qualifications. Also itis
clearly popular because over 130,000 young people in more than 3,000 locations across the UK
are involved.

w Ahh JE—
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Solving Ratio Problems

1 can solve ratio problems,

~ 000~
Solve these Ratio problems, show your working out. It may help to draw a chart to help you
answer the questions,

Solving Ratio Problems

1 can solve ratio problems.

- lolelod

5. At a party there are three sorts of drinks: orange, lemonade and cherry. The ratio of the
drinks is 3:2:1 (orange:emonade:cherry). If there are 12 glasses of orange, how many
glasses of drink are there altogether?

Class 6 do a survey to find out which sport children like best. For every child who said
they like rounders, there were three children who liked football and two who said they
like swimming best. There were 20 children who said they liked swimming. How many
children took part in the survey?

1. A rectangle has the ratio of width to length 2:3. If the perimeter of the rectangle is 30cm,
what's the area?

Aprinting press prints 120 sheets in 3 minutes. How many sheets are printed in 30 minutes?

Farmer Giles and Farmer Jones have chickens. Farmer Giles' chickens lay 2 brown eggs
for every 5 white eqgs. Farmer Jones' chickens lay 3 brown egg for every 4 white eggs
On Monday Farmer Giles' chickens laid 35 eggs and Farmer Jones' chickens laid 28 eggs
Which farmers chickens laid more brown eggs?

2. A piece of wood 3.6m long is cut into 3 pieces in the ratio 2:3:4. Find the length of each piece.
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Solving Ratio Problems

1 can solve ratio problems,

~ 000~
Solve these Ratio problems, show your working out. It may help to draw a chart or diagrams to
help you answer the questions,

Solving Ratio Problems - Answers

In  fuit bowl there are 2 orangesfo every 3 apples. I thre are 15 apples, how many orangesare there?

10 oranges

Rupra is picking stmwberries. For evry 5 straberiesshe puts in her baske, she eats 2. 1f she picks 28
strawbarries, how many does she eat and how many doesshe put n the basket?

3. Here are the ingredients needed to make a Smoothie for 4 people
240ml cranberry juice, 180g raspberries, 120ml milk, 300mi natural yoghurt, 2 thsp sugar:
a. How much cranberry juice would be need to make the smoothie for 8 people?
b. How much milk would be needed for 2 people?

c. Write the ingredient list for 10 people.

4. Here are the ingredients for a chocolate cake which serves 10,

220g self-raising flour, 350g caster sugar, 859 cocoa powder, 2 eggs, 250ml milk, 120ml
vegetable oil, 250m! boiling water

a. How much caster sugar would be in each slice?
b. 1f you wanted to make enough cake for 15 slices, how much flour would be needed?

€. Write the ingredient list for 18 people.

She eats % and puts 20 in the basket.

A bag of swets contain ed sweets and yelow sweets. The atio of red o gellow i 3.7 f there are 40
sweets altogether, how many yellow swets ae there?

29 yellow sweets

Jack has 30 sweets. He shares his sweets with his frend. When he gives his fiend a sweet, he has 2 for
himsef. How many sweets do they each have?

Tack has 20 sweets and his friend has 10 sweets.

In e fed thee are some sheep and some goats. The atioof sheep togoats i 3:1.1f tere ae 3 gats, how
many sheep are ther?

9 sheep

Lucy has @ necklace which has red beads and blue beods. For every red bead, there are four bue beads.
There are 20 beads in total. How many of hese are bue?

16 ble beads

In the schoolchoi there are 30 children. Th raio of girls 1 boys & 1. How many boys are n the choir?

6 boys

Tasneem brings some sweets o school on her birthday. In the bag, there are chocolates and tofees. The
atio of chocolates to toffees i 3.1 thee ar 40 sweets, how many are chocoates?

25 chocalates
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Ruby Bridges Answers

Iat does the word ‘segregation mean?
Segregation means setting someane or something apart from others, such as when black and white children
had t0 go to separate schools

Look at the end of paragraph two, why do you think that .. there was a bt of trouble

‘There was a ot of trouble because peaple wanted to stop black children going to the white schools and they
were angry about I 5o they might have caused trouble.

What type of punctuaion mark oins the adjective ‘Afrcan-American'?

“The adjective ‘African-American' I joined with a hyphen.

hat did Ruby have 10 6o 1o be able o go o the white school?

Ruby had to pass (notjust take) atest

Why i Ruby need to be taken 1o school by US Marshals?

Ruby needid 1o be taken 1o school by US Marshals to keep her safe from the people who were angry about
her going o a white school. People were shouting unkind things and also throwing things at her.

People say that Ruby was very brave - do you agree and why?

(Open-ended and good for discussion) Ruby was brave to be the frst black girl o go to a white schoal. She
carried on, even though she was being shouted at or having things thrown at her. She must have also been
brave to be on her own for the fist year with no riends to play with at school.

I Your own words,explan wha Sort of person Mrs Henry must have been

(Open-ended) Answers may include: Brave because people were notnice toher for teaching a black gir: kind
because she thought about Ruby’ feelings and cared for her.

Find a fronted adverbial I the ffh paragraph

‘The fronted adverbial In the ffth paragraph s thankfully

Ruby 5 now a civi rights activist. What does that mean?

Acivil ights activist is someone who tries to make sure that people are treated equally and farly no matter
the colour of their skin.

Look at the final quote from Barack Obama. How have peopie ke Ruby helpedt him?

He s the first lack president of America and this would not have happened Iflos of people like Ruby had
ot done something brave like this 10 change how black people are seen,

J—

Ruby Bridges, born in Tylertown, Mississippi
in 1954, was the first African-American child
to go to a white school after desegregation
in southern America. At this time, she was
only six.

School Segregation
In 195, the Supreme Court in America ruled
that schools should no longer be segregated.
This was coincidentally the same year that
Ruby was born. Even though it became law
to desegregate schools, it took a number of
years for African-American children to be
able to go to white schools and even then,
there was a lot of resistance.

When Ruby was in nursery school in New
Orleans, she took a test to see if she could go to the white school which had
become open to African-Americans who passed the test. Ruby's father was
concerned about her going to the white school because of the trouble it might
cause, but her mother was sure that she would get a better education. It is
widely believed that the test was made hard so that not many children would
succeed. However, in 1960, Ruby and her parents found out that she was one
of only six African-American children to pass the test and able to go to white
schools in the area.

The First Day at School
People expected there to be trouble for Ruby when she started at the white
William Frantz School, 50 to keep her safe, she was driven and walked into
school by four US Federal Marshals. At school, there were crowds of people
protesting, shouting rude names and throwing things because they did not
want African-American children coming to the white school. There was so much
trouble that the white children had been kept at home, so there were no classes
that day. A famous painting was done by Norman Rockwell of this iconic walk
to school called ‘The Problem We All Live With'

The First Year
Only one white teacher, Mrs Henry, agreed to teach Ruby. Mrs Henrys choices
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Ruby Bridges Questions

also made her unpopular with the white parents, but she did not care and saw
pop P What does the word ‘segregation’ mean?

Ruby as the most important. Other parents kept their white children away from
Ruby, s0, for a whole year, there was only Ruby and Mrs Henry together in one
classroom for lessons, break times and even for meals. Thankfully, after the first
year, white children started to return to Ruby’s class and the Federal Marshals
stops taking her to school. She had found the first year very hard and knew that
children did not want to play with her because of the colour of her skin.

Look at the end of paragraph two, why do you think that "..there was a lot of trouble'?

What type of adjective is African-American in paragraph two?
Later Years

Ruby went on to be successful. She graduated from high school and had a good
career. She had four sons and is now a civil rights activist focussing on making What did Ruby have to do to be able to go to the white school?
Life fair for black and white people living together.

The First Day of School’ paragraph starts with 'People expected there to be trouble.
In 2014, a statue of Ruby was placed outside William

Frantz School. In 2001, she was awarded a medal from
President Bill Clinton and in 2011, she looked at the
Norman Rockwell painting with President Barak Obama
and he said to her,

Why did people expect trouble?

At the end of the fourth paragraph, the author ses the word ‘iconic' - what does this mean?

We know that Ruby was very brave to go through this experience.

Why do you think Mrs Henry was also brave?

Find a fronted adverbial in the fifth paragraph.

Explain what you think the ‘problem’ is in the title of the painting talked about in the text

10. Look at the final quote from Barack Obama. What does he mean by this?

[ @/
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Ruby Bridges Questions

also made her unpopular with the white parents, but she did not care and saw
pop P What does the word ‘segregation’ mean?

Ruby as the most important. Other parents kept their white children away from
Ruby, s0, for a whole year, there was only Ruby and Mrs Henry together in one
classroom for lessons, break times and even for meals. Thankfully, after the first
year, white children started to return to Ruby’s class and the Federal Marshals
stops taking her to school. She had found the first year very hard and knew that
children did not want to play with her because of the colour of her skin.

Look at the end of paragraph two, why do you think that "..there was a lot of trouble'?

What type of adjective is African-American in paragraph two?
Later Years

Ruby went on to be successful. She graduated from high school and had a good
career. She had four sons and is now a civil rights activist focussing on making What did Ruby have to do to be able to go to the white school?
Life fair for black and white people living together.

The First Day of School’ paragraph starts with 'People expected there to be trouble.
In 2014, a statue of Ruby was placed outside William

Frantz School. In 2001, she was awarded a medal from
President Bill Clinton and in 2011, she looked at the
Norman Rockwell painting with President Barak Obama
and he said to her,

Why did people expect trouble?

At the end of the fourth paragraph, the author ses the word ‘iconic' - what does this mean?

We know that Ruby was very brave to go through this experience.

Why do you think Mrs Henry was also brave?

Find a fronted adverbial in the fifth paragraph.

Explain what you think the ‘problem’ is in the title of the painting talked about in the text

10. Look at the final quote from Barack Obama. What does he mean by this?

[ @/
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Ratio and Proportion

2. Ona map I am using, the scale is
1cm for every 10km.

If I am mapping
a 8000km
journey,

ow many cm is
it on the map?

Ratio and Proportion

1. In my pencil pot, I have
20 pens and 25 pencils.

What is the ratio of
pens to pencils?

Ratio and Proportionv

3. T answered 4 out of every
10 questions correctly
in a test that had 100
guestions‘ How many
id I answer correctly
altogether?
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Ratio and Proportion Ratio and Proportion

4, In a zoo, there were 60 5. I measured my stride
meerkats and ﬁ when walking and
55 raccoons. p found it to be 70cm. I

then walked for 14m.
What is the ratio of s How many strides
meerkats to raccoons? would I have taken?

Ratio and Proportion

6. For every 2 blond haired
Eupils, there were 4 with
lack hair. There were

8 blond haired pupils.

How many pupils with
black hair were there?
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The Islamic Celebration: Eid al-Fitr

What is Ramadan? How is Eid al-Fitr celebrated?
Ramadan is in the ninth month of the 1slamic lunar calendar, The fstival begins at different On the first morming of the celebration, many gather in local
times for Muslims, depending onwhen the new moon is first sighted. It Lasts rom dawn until mosques or open-air locations for special prayers called Salat
sunset for 29 or 30 days. Ramadan is a very important time for Muslims and s celebrated al-Eid, and have breakfast, Muslims put on their fines clothes
allover the world. During Ramadan, Muslims request forgiveness for sins in the past, pray 2 : Jor what will be thei first daylight meal in @ month, Whilst
for direction and try to cleanse themselves through self-control and great s of faith 3 there, some Muslims will exchange gifts and greeting cards.
Celebrations continue for one, two or magbe even three days.
People wish each other ‘Eid Mubaral'(Blessed Eid) o €id Said
(Happy Eid). Celebrations vary from country to country but
Why do Muslims fast? usually include gatherings to view the new moon, decorating
homes inside and out, family visits, eating special foods,

It is a time of fasting for the Islamic people s fasting is one of the Five Pillars o duties of
Islam. The Islamic name for this fasting is ‘Saum’.

Fasting is intended to help teach Muslims to focus
their attention on God, be self-disciplined and neighbourhood parties and wearing special, new clothes.
generous. It also reminds them of the suffering
of the poor, who may rarely get to eat well. The

prophet Muhammad set the example of fasting.

Each day during the month of Ramadan, Muslims
all over the world abstain from eating and drinking
from dawn until sunset. At the end of the day ofter
sunset, Mustim families will often all eat together

and celebrate their day of fasting.

How do Muslims mark the end of Ramadan?
The end of Ramadan is a big celebration called 'Eid al-
Fitr': The Festival of the Breaking of the Fast. Muslims
celebrate the end of fasting and thank Allah for the
strength that he gave them throughout Ramadan.
Eid al-itr officially begins when the first sight of
the new moon is seen in the sky. Traditionally, Eid
al-Fitr would commence at the first sight of a sliver
of a crescent moon,

Did you know?
An estimated 21 billion Muslims across the globe will celebrate Eid al-Fitr to mark
the end of the month-long fasting period of Ramadan - a third of that number are
from the African continent:
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Questions About Eid al-Fitr

Answer the following questions using full sentences that give as much detail s possible.

7. Can you think of an example of a situation where you have ‘exercised self-restraint'?

Explain in your own words what Ramadan is.

Why must Muslims show 'self-restraint’ during Ramadan?
8. "Saun’ is just one of the Five Pillars of Islam. Research the other four Islamic duties.

What does 'Eid al-Fitr’ mean? Why is it celebrated?

Why is the crescent moon a symbol of Islamic faith?

List seven activites that Muslims may take part in during their Eid al-Fitr celebrations.

6. Can you think why Ramadan fasting is more challenging to complete when it falls during the
summer months?

@ Ahh JE— . I,
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Questions About Eid al-Fitr

7. Can you think of an example of a situation where you have ‘exercised self-restraint’?
Answer the following questions using full sentences that give as much detail as possible.

Explain in your own words what Ramadan is
Why must Muslims show ‘self-restraint’ during Ramadan?

8. “Saum is just one of the Five Pillars of Islam. Research the other four Islamic dutis.

What does 'Eid al-Fitr' mean? Why is it celebrated?

Why s the crescent moon a symbol of Islamic faith?

List seven activites that Muslims may take part in during their €id al-Fitr celebrations.

6. Can you think why Ramadan fasting is more challenging to complete when it falls during the
summer months?
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s a irthday party fora to

Freya s using 400mI of atural yogurt
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1) Mani wants to buy two fiendship bracelets, one for her and o for a fiend.

) Which shop should she buy the braceles from to get the best pice?

1) Two different shops ae sellng the same cans of drink.Each shop i running a differnt special offer

Shop 1 Shop 2

Brillont Bracelets  Jewellery For ou

b) How much would it costher?
Mani should buy the bracelat from

500

SPECIAL OFFER SPECIAL OFFER
Get 3 cons for et 5 cans for
theprice of 2 thepriceof 3 | L

&) Which shop will give me the cheapestprice for each individal can of drink and by how much?

Below s @ recie to make a chocolate cake tha serves 10 people

Recipefor Chocolat Cake
250g butter €G> 2009 flour (&) 100 suger {4 2 cogs Wy 3009 chocolate T 4 thep vanilla I

Look at cach child'sstatement about the ecipe. Correct any statements which are wrang,

Kulee says, “f T wes using th recie to make a cake for o person, T would need 259 of butter, 105 of sugar and
39 of chocolate

Hamish says, 1 need 60g o flour and 60g of chocalate to make a cake for 3 people

Rhgs sage, T will ned to buy & egg= and put in Sthep of vanills i 1 use the recipe to make a cake for 15 people

‘Samira sags, T have 3803 butter in my cupboard 5o T have enough butter to malke @ chocolate cake that serves

15 people.

3) Mei, Eva and Aron e discussing how much pocket money they sach get.

v v svon

196t £5.80 very Iga 1240 every Toet £9.60 every
o weeks four weks. three weeks

True or false? Explein your answers fully

) Aron would receive £1290 pocket monay over a period of & weeks.

b) Overa period of 3 weeks, Eva would get more pocket money than Mei

The cheapest can of drink i from

1 decide to buy 30 cans of drinkfor @ party. If s thespecial offrs, how much will it cost me to by the drinks
from sach shop?

Shop 1.

) Shop 3 sells 6 cans for the prce of .

. ......

ut o the three shops, which i it cheapest for me 1 buy 30 cans from?

00 your working cut in the bank box and write your answer on the ine

There are two bagsof mrbles

In th first bag, for every 3 red marbles there re 2
green marble

In the second bag, for every 1 red marbl there are 2
green marbles

Thereare the same number of marbles in each bag.

The second bag of marbles contains 10 green marbles. S

How many red marbles are in the frt bag?

<& —= @&
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Fidget Spinners

Fidget spinners are gadgets that are made with a ball bearing in the centre and
three ‘branches' coming from the centre. The ‘branches' of the mechanism spin
around the middle

They are made from a range of materials like stainless steel, brass, ceramics,
titanium, copper and plastic. The variety of materials used in the bearings
alters the vibration and duration of the spin.

How to Spin a Fidget Spinner
Simply hold the middle of the spinner between your
index finger and thumb as f you are picking it up. Then,
flick oneof the outside branches with your middle finger
and watch it spin.

Unlike many toys and gadgets, they don't need charging
to work so they can be used anywhere at any time.

You can also lie the spinner on a table and hold its centre with your index finger.
Use your ather hand to flick one of the branches and then let go with your index
finger. Depending on the type of spinner you have, it should steadily spin for
quite a length of time.

Origins of the Fidget Spinner
Fidget spinners were created by an American inventor, Catherine Hettinger, in
the early 1990 She was ill but still caring for her eight-year-old daughter and
found she didn't have the energy to play with her as much s she would have
liked to. Catherine began inventing toys for her daughter and between the two
of them, they created the first fidget spinner

In 1997, the fidget spinner was patented, which meant Catherine Hettinger was
granted ownership of the design and protected the idea from being copied by
others.

However, the patent had to be renewed every few years and in 2005 Hettinger
didn’t have enough money to renew it. She lost the rights over the design and
Row many companies make their own versions. The companies are now making
a lot of money from sales.

Fidget Spinners

Uses of the Fidget Spinner
Some people believed the fidget spinner would be useful for aiding concentration
and focus. It is considered a useful device to help some children who have
Attention Deficit Hyperactivity Disorder (ADHD), Autism or other special
educational needs that affect concentration or their sensory experiences

The device can also aid fine motor skills with some musicians being known to
use the fidget spinner to exercise their fingers before a performance.

Fidget spinners have been used more recently to decrease stress, through the
rotation of the branches, helping the user to ‘zone out' and clear their mind.
The theory of the fidget spinner being used for reducing stress means that many
office workplaces are seeing a rise in workers using them to help ease stress and
lower nervous energy.

Fidget Spinners in School

Some schools have banned fidget spinners as they say they are a distraction
to other pupils and affect learing potential as well as being a potential safety
hazard.

Some parents of children with Special Educational Needs (SEN) are concerned
that banning the devices will cause their children to lose concentration and feel
‘different’ to their peers if they are allowed them but their friends are not.
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Fidget Spinners

Questions

Why are the bearings made from different materials?

Find and copy one word which means length of time

Write three things that you are told about fidget spinners in the introductory paragraphs.
a)
b)
)

What makes fidget spinners different to most hi-tech toys used today?

Write a more suitable sub-heading than Origins of the Fidget Spinner’

Put these statements in order by numbering them 1 to 4,

A patent was obtained by Hettinger, which lasted until 2005.

Arange of companies have the right to make money from fidget spinners.

Hettinger invented the fidget spinner with her daughter.

Hettinger did not have enough money to renew the patent

Identify three types of people who may benefit from using a fidget spinner and explain

how it might help them.

Fidget Spinners

Questions

8. Tick "True' or ‘False’ for the statements below. Then, rewrite the false statements correctly

True | False

Fidget spinners can help the fine motor skills in fingers

Fidget spinners could cause people to develop problems with stress.

Some people with ADHD might find fidget spinners can help to calm.
them down.

The rotating branches sometimes increase nervous energy

Complete the sentences below.

Some schools do not allow fidget spinners because they might

Parents of children with special educational needs are worried that

What s your opinion about fidget spinners? Explain your reasons.

Jr— @r/
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Solving Fraction Problems - Money

b. After the reduction Sunita buys two boxes of toffees and one tub of lollipops. She pays
with a £20 note. How much change would she receive?

3. Jasmine (age 10), her brother Philip (age 7), her baby sster Sienna and her Mum and Dad
are going to the z00. The cost for adults s £ 10 and children’ tckets are 2 of the adutt price
babies are free. How much will it costfor admission for the family to the 2007

BSolving Fraction Problems - Money

I can solve money problems involving unequal sharing and grouping.
.

Solve the following problems. For at least one these problems use a bar model to help you solve
the problem. Show all stages of your working out

Class 6 are going to the pantomime. There are 30 children and 5 adults going to the
pantomine. Tickets for adults cost £12.00 and children’s tickets are 1 of the adult price

As it is a school party, there is } off the total bill. How much would it cost the class to
visit the pantomime?

2. At the Christmas Fayre, £600 was raised in total. Food and drink raised § of the total
games raised  of the total and toy sales was a } of the total. The rest of the money came
from the other stalls. How much money did the other stalls raise?
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BSolving Fraction Problems - Money

3. At the funfair, the big wheel costs £2.00 per ride and the roller coaster costs £1.50 per
ride. Joel spends £18 on rides. § of his money is spent on the big wheel and the rest was
spent on the rolle coaster. How many times does he go on each ride?

BSolving Fraction Problems - Money
~

I can solve money problems involving unequal sharing and grouping.

~

Solve the following problems. For at least one these problems use a bar model to help you solve
the problem. Show all stages of your working out

Shop A

1. Three shops have special offers for computers

Shop B

Shop C

# off the total cost

Buy one computer, get
the second half price

Spend over £500, get £60
off total bill

The same computer costs the

Shop A

following in each shop:

Shop B

£x5

£400

If a customer buys two computers, which shop would offer the best deal?

If a customer buys four computers, which shop offers the best deal?
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BSolving Fraction Problems - Money

2. 10000 people attended a football match. Tikets cost £12 for adalts and £ for children.
 of the crowd were adults. § o the people attending bought a programme which cost
£4. Ancther £22 000 was taken on food and drink;

a. How much money was taken at the event?

b. The club donated & of the takings to two charitie, 1f each charity received an equal
amount, how much would each charity receive?

Solving Fraction Problems - Money
Answers

Children need to show how they solved the questions. At least one question's
working out should include a bar model.

1. Junaid has £30. He earned } of the money by doing jobs and the rest was birthday
money. How much of the £30 was birthday money?

£20 was birthday money.

A sweet shop sells the following items:
Box of chocolate mints €8 | Box of toffees £4 | Tub of lollipops £6

The shop has a special offe, offering £ off all items. How much would you pay for each
item now?

Box of chocolate mints now £6.
Box of toffees now £3.
Tub of lollipops now £4.50.

Sunita buys two boxes of toffees and one tub of lollipops. She pays with a £20 note. How
much change would she receive?

Sunita receives £9.50 change.

Jusmine (age 10), her brother Philip (age 7), her baby sister Sienna and her Mum and Dad
are going to the 200, The cost for adults s £10 and children's ickets are # o the adlt price
babies are free. How much will it cost for admission for the family to the z007

1t will cost the family £35.
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Clothes Shop Sales

1 can solve money problems involving unequal sharing and grouping.

You own a clothes shop. You buy items at cost price from a warehouse. You then increase each
item by # of the price you bought them for to make a profit. At the end of a season, you have a
sale to make way for new stock. You reduce each item by % of the pre-sale price.

1. Complete the following table, the information for T-shirt has been completed:
Price in sale

(subtract £ from
original selling price)

Price of each item |  Original selling
inwarehouse | price (add { to cost)

(16+4=4

£16 - £4 = £12)
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Clothes Shop Sales Clothes Shop Sales - Answers

These are the numbers of items bought, sold pre sale and in the sale. e

Bought

~
Sold pre-sale Sold in sale 1 can solve money problems involving unequal sharing and grouping.

20

- - 000’

1. Complete the following table, the information for T-shirt has been completed:

Trousers

Price of each item |  Original selling Price in sale

(subtract £ from

inwarehouse | price (add § to cost) [ 5 AR R

fillin the informatio

2. How much money was made on each item? The profit made for T-shirts has been completed,

n for the remaining items:

£16 £12

£40 £30

T shirt

Trousers

£200 (10 x 20)

£128

1. How much money was made on each item? The profit made for T-shirts has been completed,
fill in the information for the remaining items:

£160 (16 x 10)

Tshirt Trousers

Cost from

£200 (10 x 20) £375
warchouse

£96 (12 x 8)

Pre sales £160 (16 x 10) £400

£256 (160 + 96)

£96 (12x 8)

Profit

£56 (256 - 200)

£256 (160 + 96) £490

Profit £56 (256 - 200) £ns £256
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A Hung Parliament

Answers

Imagine you want to vote in the general election. What must happen for youto be
able tovote?
1f I were going to vote in the General Election, I would need to be 18 years old.

Find and copy one word which means people do not know what party you have voted for.
anonymous

Do you think it is important that people have freedom of choice when they vote? Explain
your thoughts.

Answers will vary. Possible response:

Ithink it is important that people have freedom of choice to vote so that

they are voting for the party they want. Also, they are not being told who

they should vote for or forced into choosing a party they do not want.

Think of  more suitable subheading than A Hung Parliament Result
Answers will vary. Possible suggestions:

What is a Hung Parliament?

What Happens in a Hung Parliament?

A Hung Parliament Situation

Explain why a prime minister would not want a hung parliament
A prime minister would not want a hung parliament because it means
they have not won the majority number of seats in the House of Commons,
‘which means they do not have enough support in parliament for their
ideas and plans, and they do not have enough people on their side.

1f you were the prime minister in a hung parliament situation, which option would you
choose, and why? Explain what the danger is of a prime minister choosing to govern with
just their party?

Answers will vary. Possible response: I would choose to govern with just my party
because then we could make all the decisions and I would do all the things I planned to
do;

ITwould try and get another party to support me and work with me so that I could stay
the prime minister.

A Hung Partiament

7. Tickthe correct answer, to complete this sentence:
Aprime minister may have to resign because:

they have become disillusioned and want to leave.

the MPs no longer trust that they can lead the country properly,

they have lost confidence in themselves.

they want another election.

Look at the paragraph beginning ‘Decisions and allegiances.... What impressions do you
get about the need for urgency at the time of a hung parliament? Why do you think

that is?

Answers may vary. Possible response:

The impression I get s that there is a great need for urgency. The prime minister
needsto begin putting together their new Cabinet, and competently get back to
leading the country as soon as possible.  think this s to regain the trust of parliament
and make the necessary changes in government for the good of the nation.

Explain why a hung parliament might wor for the people in the UK.

A hung parliament might work for the people of the UK because

some decisions which people might not agree with, are not pushed

through quickly or at all, the people might be pleased.

Would you want to be the prime minister? Explain your thoughts.
Answers will vary.

Jr— @r/
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Ruby Bridges Answers

at does the word segregation’ mear
To keep people or thing separate (usually because of race or gender).
Look at paragraph two. What does the author mean by the phase . there was a ot o resistance”
“There was a lot of resistance’ means that people wanted to stop it (desegregation) happening. Resistance
means pushing against something.

at type of adjective s Afrcan-Amercan i parag
African-American is a compound adjective because It is made of two adjectives Joined together with a
hyphen.

atcid Ruby have t0 60 0 be able to g to the white schoaf
Ruby had to pass (notjust take) atest

The FirstDay of School paragraph stats with People expected there fobe roubie..Why di peogle expect trouble?

People expected trouble because they were not used o lack and white children at the same school and lots
of peaple did not want children to be mixed. 50 peaple were expected to get angry about it
the fourth paragraph. the author uses the nat does this mean?

‘The word Iconic means something that has become famous It can relate to a person o Image that has
become very famous and means something

Know that Ruby ws Iough this experience. Why do you think Mrs Honry was as
Mrs Henry was white and would have been disllked by many people for being on Ruby's side and being nice
10 her. She was brave to gnore these people and the unkind things they might say and continue to do what
she belleved in
Find afronted adverbialn the ffth paragrap
‘The fronted adverbial In the ffth paragraph s thankfully
Explain what you think the probleny is i th titeof the paintng taked abou i the text
“The problem s racism or the fact that a lack girl had 50 much trouble going to school with white children.

Look at the inal quote from Barack Obama What does he mean by tis

He s the first black president of America and this would not have happened Iflots of people like Ruby had
ot done something brave like this 1o change how black people are seen,

[, @/
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Questions About Eid al-Fitr

Answers
1. Explain in your own words what Ramadan is.

Ramadan is in the ninth month of the Islamic lunar calendar. Falling between June, July
and August on the Gregorian calendar and lasting from dawn until sunset for 29 or 30
days. Ramadan is a very important time for Muslims and is celebrated all over the world.

hy must Muslims show ‘self-restraint’ during Ramadan?

Each day during the month of Ramadan, Muslims all over the world do ot eat or drink
from dawn until sunset. This ‘fasting’ takes great self-restraint

hat does ‘Eid al-Fitr' mean? Why s it celebrated?

Eid al-Fitr is literally-translated to ‘The Festival of the Breaking of the Fast’ It is celebrated
at the end of the month of Ramadan.

hy is the crescent moon a symbol of Islamic faith?

id al-Fitr officially begins when the first sight of the new moon is seen in the sky. This i
thought to be one of the reasons why a crescent moon symbol is important within Islam.

List seven activites that Muslims may take part in during their Eid al-Fitr celebrations.
s from:
Meet for special prayers and have breakfast.
ifts and cards to each other.

+ Wear new/special clothes.

Can you think why Ramadan fasting is more challenging to complete when it falls during the
summer months?

Ramadan fasting is more challenging during the summer months because the sun rises
carlier and sets later. This means the daylight hours time period that Muslim people must
fast for each day is much longer.

Pupil’s own response
Saum’ is just one of the Five Pillars of Islam. Research the other four Islamic duties.

‘Shahadah: declaration of faith./Salah: prayer./Zakat: giving a fixed proportion of their
money to charity /Hajj: pilgrimage to Mecca.

@ kK U
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Fidget Spinners
Answers

Why are the bearings made from different materials?
The bearings are made from different materials because they change the vibration and
the duration of the spin.

Find and copy one word which means length of time

duration

Write three things that you are told about fidget spinners in the introductory paragraphs.
Accept any three: they are gadgets /made from a ball bearing in the centre with three
branches’ coming from the centre /the mechanism spins around the middle / made from
arange of materials like stainless steel, brass, ceramics, titanium, copper and plastic /
the bearings alter the vibration and duration of the spin.

What makes fidget spinners different to most hi-tech toys used today?
The spinners are very different from most hi-tech toys used today as they don't require
charging and can be used anywhere at any time.

Write @ more suitable sub-heading than Origins of the Fidget Spinner’

Answers will vary. Possible suggestions: The Creation /Invention of Fidget Spinners.

Put these statements in order by numbering them 1 to 4,

A patent was obtained by Hettinger, which lasted until 2005,

Bl
Arange of companies have theright o make maney from fidge spinners. [4]

Hettinger invented the fidget spinner with her daughter.

i
Hettinger did not have anough manay to e the patent al

Identify three types of people who may benefit from using a fidget spinner and explain
how it might help them.

Children who have ADHD or special educational needs; musicians; office workers

or anyone who feels stressed at work; people who get ‘wound up’ and need calming
down might benefit from using a fidget spinner because the vibration and the pattems
created when they spin can help ‘zone’ people out and clear their minds.

Fidget Spinners
Answers

8. Tick "True' or ‘False’ for the statements below. Then, rewrite the false statements correctly

True | False

Fidget spinners can help the fine motor skills in fingers. v

Fidget spinners could cause people to develop problems with stress.

Some people with ADHD might find fidget spinners can help to calm
them down.

The rotating branches sometimes increase nervous energy.

Fidget spinners can help people with stress.
The rotating branches often help people reduce their nervous energy.

Complete the sentences below.
Some schools do no allow fidget spinners because they might.

cause distractions for other children /be a safety hazard.

Parents of children with special educational needs are worried that

if the fidget spinners are banned, their children willlose concentration, or that they
might feel different if they are allowed them in school but their riends are not

What s your opinion about fdget spinners? Explain your reasons.
Answers will vary.

Possible answers: I think fidget spinners should be allowed in school because they can
help us learn and help us to concentrate/because they help some children with ADHD
and special educational needs to feel calm at school.

1don't think they should be allowed in school because they can distract peaple who are
trying to lean/could be dangerous to other pupils.

w *hH
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